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REASONING II WORK SHEET 
 

1. If in a certain language A is coded as 1, B is coded as 2, and so on, how 
is FADCCBM coded in that code?  
xU Fwpg;gpl;l nkhopapy; ‘A’ apd; kjpg;gpid 1 vdTk;> B apid 2 
vdTk; nrhy;ypf;nfhz;Nl Nghdhy; FADCCBM vd;w vOj;Jf;fSf;fhd 
vz;fisf; fhz;. 
a. 61433213             b. 13233486  c. 6243313           d. 5143313 
 

2. If PAINT is coded as 74128 and EXCEL is coded as 93596, then how 
would you encode ACCEPT?  
PAINT vd;gjid 74128 vd;Wk; EXCEL vd;gjid 93596 vd;w 
vz;fshy; vOjpdhy; ACCEPT vd;gjid vt;thW vOjyhk;? 
a. 455978               b. 647978  c. 554978             d. 535961 
 

3. If in a certain code BEAUTIFUL is coded as 573041208, BUTTER as 
504479, how is FUTURE coded in that code?  
BEAUTIFUL vd;gjid 573041208 vd;Wk; BUTTER vd;gjid 504479 
vd;w vz;fshy; vOjpdhy; FUTURE vd;gjid vt;thW vOjyhk;? 
a. 204079              b. 704092  c. 201497             d. 204097 
 

4. In a certain code 5 is coded as Z, 7 as E, 2 as S, 9 as T and 4 as W. How is 
977452 coded in that code ?  
xU Fwpg;gpl;l nkhopapy; 5 vd;gJ Z vd;Wk;> 7 vd;gJ E vd;Wk;> 2 
vd;gJ S vd;Wk;> 9 vd;gJ T vd;Wk;> 4 vd;gJ W vd;Wk; vOjpdhy; 
977452 vd;w vz;fSf;fhd vOj;Jf;fs; ahit? 
a. SEEWZT           b. TEEWZS  c. ZEEWST         d. WEEZST 
 

5. In a certain code 98602 is coded as MANGO, 0139867 as GERMANY, 
then how is 9868013 coded ?  
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xU Fwpg;gpl;l nkhopapy; 98602 vd;gJ MANGO vd;Wk;> 0139867 vd;gJ 
GERMANY vd;Wk; vOjpdhy; 9868013 vd;w vz;fSf;fhd vOj;Jf;fs; 
ahit? 
a. MANEGER      b. MENEGER  c. MENAGAR     d. MANAGER 
 

6. If in a certain language A is coded as 1, B is coded as 2, and so on, how 
is STAR coded in that code ?  
xU Fwpg;gpl;l nkhopapy; A vd;gJ 1 vd;Wk;> B vd;gJ 2 vd;Wk; 
nrhy;ypf;nfhz;Nl Nghdhy; STAR vd;gjpd; vz;fs; ahit? 
a. 1810291            b. 9120118   c. 1920118            d. 1920811 
 

7. If in a certain language P is coded as 7, T as 3, O as 4, R as 9 and A as 2, 
how is PARROT coded in that code ?  
xU Fwpg;gpl;l nkhopapy; P vd;gJ 7 vd;Wk;> T vd;gJ 3 vd;Wk;> O 
vd;gJ 4 vd;Wk;> R vd;gJ 9 vd;Wk;> A vd;gJ 2 vd;Wk; vOjpdhy; 
PARROT vd;w vOj;Jf;fSf;fhd vz;fs; ahit? 
a. 372994              b. 723349  c. 279943            d. 729943 
 

8. If in a certain language T is coded as 9, G as 7, R as 1, I as 0 and E as 3, 
how is TIGER coded in that code ? 
xU Fwpg;gpl;l nkhopapy; T vd;gJ 9 vd;Wk;> G vd;gJ 7 vd;Wk;> R 
vd;gJ 1 vd;Wk;> I vd;gJ 0 vd;Wk;> E vd;gJ 3 vd;Wk; vOjpdhy; 
TIGER vd;w vOj;Jf;fSf;fhd vz;fs; ahit? 
a. 90731            b. 19037  c. 91073               d. 71903 
 

9. If in a certain code BOX is coded as 213, BITTER as 207749, how is 
BOXER coded in that code? 
BOX vd;w thu;j;ij  213, BITTER vd;w thu;j;ij 207749 vd;w 
vz;zhy; Fwpf;fg;gl;lhy; BOXER  vd;w thu;j;ij ve;j vz;zhy; 
vOjg;gLk;? 
a. 21359                     b. 23159   c. 23149            d. 21349 
 

10. In a certain code language 'ORAL' is written as '3196'. How will 
'WRITTEN' be written in that code ?                 
'ORAL' vd;w thu;j;ij  '3196' vd;w vz;zhy; Fwpf;fg;gl;lhy; 
'WRITTEN' vd;w thu;j;ij ve;j vz;zhy; vOjg;gLk;? 
a. 5529295              b. 5522959  c. 5992255              d. 5522995                     
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11. How many 5’s are there in the following sequence which are 
immediately followed by 3 but not immediately preceded by 7? 
gpd;tUk; vz; njhlhpy; vz; 5f;F mLj;J 3-k; tuNtz;Lk;. Mdhy; vz; 
5f;F Kd;G vz; 7 tuf;$lhJ. ,t;tpuz;L tpjpfis gpd;gw;wp vj;jid 
5-fs; cs;sd? 
8 9 5 3 2 5 3 8 5 5 6 8 7 3 3 5 7 7 5 3 6 5 3 3 5 7 3 8 
a. One   b. Two  c. Three  d. Four   
 

12. How many even numbers are there in the following sequence of 
numbers which are immediately followed by an odd number as well as 
immediately preceded by an even number? 
gpd;tUk; vz;njhlhpy; ,ul;ilg;gil vz;Zf;F mLj;J xw;iwg;gil 
vz;Zk; mNj ,ul;ilg;gil vz;Zf;F Kd;G ,ul;ilg;gil vz;Zk; 
,Uf;FkhW vj;jid ,ul;ilg;gil vz;fs; cs;sd? 
8 6 7 6 8 9 3 2 7 5 3 4 2 2 3 5 5 2 2 8 1 1 9  
a. One   b. Three  c. Five  d. None of these 
 

13. How many 8’s are there in the following number series which are 
exactly divisible by its immediately preceding and also divisible by 
immediately succeeding numbers? 
gpd;tUk; vz; njhlhpy;> vj;jid 8-fs; mjd; Kd;Dk;> gpd;Dk; cs;s 
vz;fshy; rupahf tFgLk;gbahf cs;sJ? 
8 2 4 5 1 7 2 8 4 8 4 2 2 8 2 6 9 8 4 5 4 8 3 2 8 4 3 1 8 3 
a. 1   b. 2   c. 3   d. 4    

 
14. In the series  

6 4 1 2 2 8 7 4 2 1 5 3 8 6 2 1 7 1 4 1 3 2 8 6 
How many pairs of alternate numbers have a difference of 2?  
6 4 1 2 2 8 7 4 2 1 5 3 8 6 2 1 7 1 4 1 3 2 8 6 
vd;w njhlhpy; xd;Wtpl;L xd;W vz;fshf vj;jid N[hbfspd; 
tpj;jpahrk; 2 vdf; fhz;f: 
a. 2   b. 4   c. 6   d. 8 
 

15. 5  1  4  7  3  9  8  5  7  2  6  3  1  5  8  6  3  8  5  2  2  4  3  4  9  6 
How many odd numbers are there in the sequence which are 
immediately followed by an odd number? 
nfhLf;fg;gl;Ls;s vz; njhlhpy; vj;jid xw;iw gil vz;fs; 
mLj;jjhf xw;iwgil vz;fis nfhz;L mike;Js;sd? 
a. 1   b. 2   c. 4   d. 6 
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16. If ‘+’means ‘minus’, ‘×’ means ‘divided by’, ‘‚’ means ‘plus’ and ‘-
‘means ‘multiplied by’ then which of the following will be the value of 
the expression 252 × 9 – 5 + 32 ÷ 92 = ? 
'+' vd;gJ fopj;jiyAk;, '×' vd;gJ tFj;jiyAk; ‘‚’ vd;gJ $l;liyAk; 
‘-‘ vd;gJ ngUf;fiyAk; Fwpf;fpwJ vdpy;> 252 × 9 – 5 + 32 ÷ 92 d; kjpg;G 
fhz;f.  
a. 95  b. 168       c. 192       d. 200 
 

17. If ‘+’ means '×', '×' means '-', '÷' means '+', and '–' means '÷' , then which 
of the following gives the result of 175 – 25 ÷ 5+ 20 × 3 + 10 = ? 
‘+’ vd;gJ '×', '×' vd;gJ '-', '÷'  vd;gJ '+' kw;Wk; '–'  vd;gJ '÷'  vdpy; 175 
– 25 ÷ 5 + 20 ×  3 + 10 = ? 
a. 77        b. 160         c. 240        d. 2370 
 

18. If Q means ‘add to’, J means ‘multiply by’, T means’ subtract from’ and 
K means ‘divide by’ then 30 K 2 Q 3 J 6 T 5 =? 
Q vd;gJ $l;liyAk;, J vd;gJ ngUf;fiyAk; T vd;gJ fopj;jiyAk; 
kw;Wk; K vd;gJ tFj;jiyAk; Fwpf;fpwJ vdpy;> 30 K 2 Q 3 J 6 T 5 =? 
a. 18                   b. 28                         c. 31             d. 103 
 

19. If P denotes ÷, Q denotes ×, R denotes + and S denotes -, then what is 
the value of 18 Q 12 P 4 R 5 S 6 = ? 
P vd;gJ ÷, Q vd;gJ ×, R  vd;gJ + kw;Wk; S vd;gJ – vdpy;> 18 Q 12 
P 4 R 5 S 6  d; kjpg;G fhz;f.  
a. 53                   b. 59                       c. 63               d. 65 
 

20. If '×' means ÷, - means ×, ÷ means + and + means -, then (3 – 15 ÷ 19) × 8 
+ 6 =? 
'×' vd;gJ ÷, '-' vd;gJ ×, ÷  vd;gJ + kw;Wk; '+' vd;gJ - vdpy;> (3 – 15 ÷ 
19) × 8 + 6 =? 
a. -1                   b. 2                           c. 4                d. 8 

 

21. Murugan is sixth from the left end and Prasanna is tenth from the right 
end in a row of boys. If there are eight boys between Murugan and 
Prasanna, how many boys are there in the row? 

 XU thpirapy; KUfd; vd;gth; ,lJ Gwj;jpypUe;J MwhtjhfTk;> mNj  
thpirapy; gpurd;dh vd;gth; tyJ Gwj;jpypUe;J gj;jhtjhfTk; 
mkh;e;jpUe;jdh;.  ,t;tpuz;L egh;fSf;Fk; ,ilapy; 8 rpWth;fs;  

mkh;e;jpUe;jdh; vdpy; me;j thpirapy; nkhj;j egh;fspd; vz;zpf;if 
vt;tsT? 



 

5 | P a g e  APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187 

 

  a. 21   b. 23   c. 24   d. 25 
 

22. Sugan ranks sixteenth from the top and forty ninth from the bottom in a 
class. How many students are there in the class? 
xU tFg;gpy; Rfdpd; juthpirahdJ KjypypUe;J 16tjhfTk;> 
filrpapy; ,Ue;J 49tjhfTk; cs;sJ vdpy;> mt;tFg;gpy; cs;s 
nkhj;j khzth;fspd; vz;zpf;if vt;tsT? 
a. 54      b. 64      c. 65      d. 66 
 

23. Kanmani ranked sixteenth from the top and twenty ninth from the 
bottom among those who passed an examination. Six boys did not 
participate in the competition and five failed in it. How many boys 
were there in the class? 

 xU Njh;tpy; ntw;wp ngw;w khzth;fspd; juthpirapy; fz;kdp vd;w 
khztp NkypUe;J 16-tJ MfTk;> filrpapy; ,Ue;J 29-tJ MfTk; 
,Ue;jhh;.  ,j;Njh;tpy; MW Ngh; Njh;T vOjtpy;iy kw;Wk; Ie;J Ngh; 
Njh;r;rp ngwtpy;iy vdpy;  mt;tFg;gpYs;s nkhj;j khzth;fspd; 
vz;zpf;if vt;tsT? 

 a. 35   b. 45   c. 50   d. 55 
 

24. In a row of trees, one tree is fifth from either end of the row. How many 
trees are there in the row? 
xU thpirapy; cs;s kuq;fspy; xU kukhdJ ,U Gwq;fspypUe;Jk; 
5tjhf ,Ue;jJ vdpy; mt;thpirapy; cs;s kuq;fspd; vz;zpf;if 
vt;tsT? 
a. 8      b. 9       c. 10      d. 11 
 

25. Rajan ranks eighteenth in a class of 49 students. What is his rank from 
the last? 
49 khzth;fis nfhz;l tFg;gpy; uh[dpd; juthpir 18 vdpy;> 
filrpapypUe;J mthpd; juthpir vd;d? 
a. 18      b. 19      c. 31      d. 32 
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REASONING II WORK SHEET 
ANSWER KEY  

 

1 2 3 4 5 6 7 8 9 10 
A A D B D C D A D D 

11 12 13 14 15 16 17 18 19 20 
C D D A D D A B A B 

21 22 23 24 25      
C B D B D      
 

 
 

 


